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Level 2 - Fortgeschr/tten - Blatt 3

Losung Al
_ 3x-2 ooy _ 3(x3-1)-2x(3x-2) _ -3x®+4x-3 _  3x%-4x+3
fl(x) T x21 fl (x) - (x2-1)2 - (x2-1)2 - (x2-1)2
3—yx2 , —2x-(x2-2)-2x-(3-x2) 2x
folx) = x%-2 f2' () = (x2-2)2 T
,( )= 200D (x+1)2-2(x+ 1) (x—1)? _ 2(x+1)(x?-1-x%+2x—1)
(12 f3'(x) = G = Gr1)*
f:(0) = (x+1)2 _ 2(x+1)2(x-1) _ 4kx-1)
(x+1)* (x+1)3
3_ !
fil) =222 | fi/ () = 4x
5x%-3 ' —10x3+2x(5x%2-3 -6
fox) = 25 fi'(x) = TRE8)
2_3 , 4x3-(2x—3)-12x%-(x?-3x) _ x(2x—3)-3(x?-3x) _ —x%+6x x—6
f6(x) = x4x3x f6 (x) - 16x6 - 4x% = 4x4 = T ax3
' _ 5(x=20)*(x+10)"2+2(x+10)"3:(x—20)5
(x—20)° fr )= (x+10)7
f(0) = oo =5(x —20)*- (x + 10)2 + 2(x — 20)%(x + 10)
= (x —20)*- (x +10) - (7x + 10)
o) =E22 | ) = 5 - D)
fg()—3x +4 f9,(x):3_x_3
Losung A2
1
fl(x) = —— _ 05— 1)2
! z-m-(xﬂ)% fis() (x+1)2
, _ 2 sm(x)
f2(x) =1+ tan®(x) fi7(x) = cos(x)
' _ msin(x-3)  2nx-cos(x—3) 3
f3(x) = — x2_2  (x2-2)2 fie(x) = %
"(y) = —© (4=30)7"
fa'() = (3x—4)3 fis(x) = ﬁ
' _ _ 3x*(x+5)
f5 (X) = (x+3)2 f14( ) (x+3)2
10x—4 4_
f6( ) - = f13(.x) = Sxax:x
10x3+x%+4 _
fy(x )—L frala) = T2
(2x—2) -sin(x+2)+(2x—x2)-cos(x+2) _ x?-2x
fS( )= sin2(x+2) fi1(x) = sin(x+2)
folx) =4 fio(x) = =
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Losung A3
Aa) f(x) = 4x2 u=2x3 u' =6x? v=4x? v =8x
' _ 24x*-1ex* 1
fix) = 16x* 2
f'x)=0
b) f(x)=2xx24 u=x3 u=3x*> v=2x*-4 v =4x
, _6x2(x%-2)—4x*  x*-6x? _ 4 o2 I 43
f'®) == a5 = 207-2 u=x*—6x u' = 4x% —12x
v =2(x%-2)? v =8x(x%?—2)
"(x) = 4-(x3-3x)-2-(x2-2)" ~(x*—6x2)-8x-(x2-2) _ 3'(9‘2—2)'(("3—39‘)'("2_2)_"("4_6"2))
frx) = 4(x2-2)* - 4(x2-2)*
_ 2‘((7‘3_37‘)‘(7‘2_2)_’5("4_6’52)) _ 2:(x5—2x3-3x3+6x—x5+6x3)
- (x2-2)3 - (x2—2)3
_ 2x(x2+6)
T (x?-2)3
2(x _ 3 I _ 2
) fx)= x2+x u=2(x>—x) u' =23Bx*-1)
v=x>+x v =2x+1
"(x) = 2(3x2-1)(x%+x)-2(x3-x)(2x+1) _ 2(3x4+3x3—x2—x—(2x4+x3—2x2—x))
fix) = (x24x)? - (x2+x)?
_ 2(x*+2x3+x2) _ 2(x*+2x3+x2) —>
(x2+x)2 x4 4+2x34x2
f'(x) =0
d) f(x)=ﬁ u=x—1 u=1 v=&-k? v =2(x-k)
f,(x) _ (x=k)2—2-(x—1)-(x—k) _ —x—k+2 _ _ x+k-2
B (x-k)* T (-k3 T (k)3
u=-x—-k+2 u' =-1
v=(x+k)>3 v =3(x +k)?
F'(x) = —(x-k)3—(—x—k+2)-3-(x—k)?> _ —(x—k)+3-(x+k—2) _ 2x+4k—-6 _ 2(x+2k—3)
- (x—k)® B (x—k)* -t T (k)
e) f(x)=(x:;;)2 u = 2ax u'=2a v=x—-a)® v =2(x-aq)
f’(x) _ 2a(x—a)®’-4ax(x—a) _ 2a(x—a)—4ax _ —2ax-2a% _ _ 2a(x+a)
- (x-a)* e - (-a)?
u=-2a(x+a) u' =-2a
v=(x—a)l v’ =3(x — a)?
nx) _ —2a(x—a)®+6a(x+a)(x—a)®> _ —-2a(x—-a)+6a(x+a) _ 4ax+8a? _ 4a(x+2a)
A (x-a) B (x-a)* )t (x-a)t
f) f()—x2+2 u=2x u=2 wv=x*+2 v =2
, _ 2(x%42)-4x? _ 2(2-x?)
fO) ="z = Garapy
u=4-2x2 u' = —4x
v = (x? +2)? v =4x- (x?+2)
"(x) = —ax-(x2+2) —ax-(x2+2)-(4-2x2) _ —ax(x2+2)—4x(4-2x%) _ 4x3-24x _ 4x(x%-6)
frx) = (x?+2)* = DE T 2?2 | ()2
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